REDENTORE 6

MONSELICE C 1

RISULTATO SET TOTALE
SQUADRA A SQUADRA X 2 3 4 5 SET PUNTI |PARTITE
A X A XA XA XA X A|X|A|X
A BERTON X IBUSACCA 11,2 8 (113 (11116 |11 5 |3 |2 (4435|110
B | GAMBARIN Y |BELLIZIA 11 3 |11 5 | 11 3/0(33/11|/ 1|0
DP|MERLIN-NALIN DP|BUSACCA-MAGRIN 11/ 6 |6 11|11 4 |11 8 3 113929 1 0
C |[MERLIN Z MAGRIN 9 11/ 6 11| 6 |11 0 3/21/33,0 |1
B |GAMBARIN X IBUSACCA 11,6 (117 |11 3 3/0(33/16| 1|0
A BERTON Z MAGRIN 11,3 (1118 |9 (11|11 7 31114229/ 1|0
C |NALIN Y |BELLIZIA 511|112 (11,7 |11 4 31138241 /|0
B Z 0|0
C X 0|0
A Y 0|0
TOTALI| 18 | 8 (250|177 6 | 1




